Calculus BC – Chapter 3 - Even Answers (F.T.D.W.)
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Section 3.1
2. (a) 0     (b) -3

4. (a) 
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6. (a) April 7; 10min/day

(b) Yes, Jan 1 to July 1
 (c) Positive, mid-Jan to July 1

Negative, July 2 to mid-Dec
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Calculus BC – Chapter 3 - Even Answers (F.T.D.W.)
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Section 3.2 (continued)
28. (a) 
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(b), (c), (d), (e)
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30. (a) 
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(b), (c), (d), (e)
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32. (a) 
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(b), (c), (d), (e)
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22.  y = 1


24. � EMBED Equation.DSMT4  ���


26. -5


28. -2


30. � EMBED Equation.DSMT4  ���


32. 2 � EMBED Equation.DSMT4  ���0


34. 1 � EMBED Equation.DSMT4  ���-1


36. � EMBED Equation.DSMT4  ���


To graph the derivative of y1 without knowing it’s equation, click on � EMBED Equation.DSMT4  ��� and enter into


y2 = nDeriv(y1,x,x).


Now hit � EMBED Equation.DSMT4  ���!


Notice you have to enter the variable ‘x’ twice!


� EMBED Equation.DSMT4  ��� but look...


�


why is there a thick black line down the middle? 


�


38. � EMBED Equation.DSMT4  ���


�


 





Section 3.2


2. � EMBED Equation.DSMT4  ���


4. � EMBED Equation.DSMT4  ���


6. � EMBED Equation.DSMT4  ���


8.   c


10. d


12. (b) � EMBED Equation.DSMT4  ��� S(h) closer.


� EMBED Equation.DSMT4  ���


14. (b) � EMBED Equation.DSMT4  ���


S(h) is closer. � EMBED Equation.DSMT4  ���


18. (b) � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


20. See #14. The derivative 


might not exist but the approximations may give values.


22. See #16. Even if f(2) exists and the approximations give values, the derivative at x = 2 may not exist.


24. Since D = [ -2,2 ] , f(2 + h) or f(2 – h) will be negative, so S(h) cannot be used.


26. 


�


(a) -.122, -.028, .031, -.062


(b) g(x) differentiable, yes


(c) tangent at every point





34. Weierstrass function (p.182)


Continuous by not differentiable at any point!


Viewing windows:


[.25895206,.25895208]


[.135,.145]


36. (a) Graph of dy/dx.


�


Note: There should be open dots where x = 0.


(b) 


� EMBED Equation.DSMT4  ���


(c) � EMBED Equation.DSMT4  ���at x = 0


38. 2ax + b


40. � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���, hence the derivative DNE.


42. (b) If � EMBED Equation.DSMT4  ���, the two graphs appear to coincide. 


44. The curve is like the cube root curve and has a vertical tangent at x = 0. So the derivative doesn’t exist even if nDeriv obtains a value!








46. (a) f(x) = | x | is continuous everywhere


g(x) is a difference of 2 continuous functions divided by a nonzero constant.


(e)


� EMBED Equation.DSMT4  ���


48. � EMBED Equation.DSMT4  ���


 � EMBED Equation.DSMT4  ��� = 1


Hmm... we still have some work to do!


50. Sf(h) is continuous since it is a difference of two continuous functions divided by a nonzero constant. 
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